Math 002-20, Quiz6 (9.5and 9.7), Term 142 , Instructor: Sayed Omar Pagel 30-Apr-15
Serial # ID NAME

Show all necessary steps for full marks.

Q1. (5 points)(9.5 Textbook Exercise 15): Find the solution set of the system of equations:

3x2+2y%=
X -y =-2
Solution:
15. 3x2+2yP = 51
x — vy =-2(2)

Solving equation (2) for v, we have y=x+2.
Substitute this result into equation (1).
32 +2(x+2) =5
3t + 2(.*;2 +4x+ 4.] =
3x% +2x* +8x+8=5
5x* +8x+3=0
Bx+3)x+D=0=x= —% orx=—1

0 _ 7 1f

If x=—=. then 1———+"’—— + 5

5
x=—Lthen y=—1+2=1.

2).(-11}

Q2. (5 points)(9.5 Textbook Summary Exercise 19, page 879): Find the solution set of the system of
equations:

[
h |*—-]

Solution set: {(—

th |'.p-!

2x%+y2=9
33X -2y =6
Solution:
19. 2x%+ }‘2 =9 (1)
3x =2y =-6(2)
Solving equation (2) for x, we have
2v-6

8y  —48y+72+9y" =81
17y* —48y+72 =81
17y* —48y-9=0
(yv=3)(17y+3)=0=y-3ory=-%

Jx=2y-6=x=

Substitute this result into equation (1).

21; V2
— |"| -
1 | +y* =9 If y=3, then x= _;b_f‘;t‘:_%:{}_
: | 6 2(-3)-102
2y - 3 2
2.[“} 6) +y° =9 If y=-+3, then ,1— 3 =—
9 4 X _ =6-102 _ —108 _ _ 36
2-(2v—6) +9y~ =81 51 51 17

Solution set: {{{}, 3) , ('_i _1)}

2(4y% - 24y +36)+9y* =81 0 -2
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Q3. (5 points) (9.7 Recitation Q#2): If A {‘é _21 ‘2 } | 3{_02 ‘61 _‘:‘J then find the

matrix X for which 4X +B=X -2A .

Solution:
4X +B =X -2A
X =-B -2A
3X =—(B +2A)
X:—%(B-FZA)
1 0—14+—2 4 -6
- 3|2 6 3] |12 -2 4
B 1[-2 3 =2
~ 3]0 4 1
2 4 2
| 3 3
10 4 1
3 3 3
2 0 9
L1 s 3 0 5
Q4. (5 points): Let A= 31 o B|0 13 and AB=C =|¢; |. Find ¢,;—C;, =?
3 0 4
0 2 4

Hint: Cy3 =The element in the first row and third column of AB .
C4; =The element in the third row and first column of AB.

Solution:

5

c13=[2 0 9] 31=(2)(5)+(0)(3)+(9)(4) =46
4
-3

Cy=[-3 1 0]| 0 |=(-3)(-3)+1)(0)+(0)(3)=9
3

C;;—Cy =46-9

=37
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